ASIAN INTERNATIONAL SCHOOL
SUMMER HOLIDAY HOMEWORK
CLASS X
SESSION 2023-2024

SUBJECT TASK ASSIGNED 215T CENTURY
SKILLS

ENGLISH I. Prepare a project in a channel file drawing out a comparative -Creative and

analysis of any three famous tourist spots in India which are critical thinking

extremely popular and often visited. The points of reference can be | skills

the following - -Cognitive skills

A) origin -Analytical skills

B) history associated with the place -Problem solving

C) Special attractions skills

D) People and lifestyle ( culture, geography and economy) -Writing skills

E) Additional details ( must be relevant to the place chosen) -Literary skills

-Research skills

Guidelines:

1) The work must be done in channel file using A4 paper.

2) Relevant pictures to be used to enhance the beautification of the

project.

3) Students must use only black or blue pen.

4) The chronology to be used while making the project is as

follows:

1)Title Page

2) Acknowledgement

3) Table of Contents

4) Introduction of the Topic

5) Aims and Objectives

6) Body of the project ( along with pictures)

7) Conclusion

8) Bibliography

* The word limit should be in between 500 to 600 words.
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MATHEMATICS

1. R S Aggarwal SAMPLE PAPER 1
Page No. 952 Sum 1,2,3

Page No :- 953 Sum 4, 7

Page No. 954 Sum. 21, 22

Page No. 955 Sum N. 27,

Sample Paper 2

Page No 959 Sum 3, 4.

Page No:- 960 Sum 12,16

Page No:- 961 Sum No. 24 and 24 (OR), 27(OR)
Page No. Sum No. 29

Il. ACTIVITY

-Problem Solving
Skills

-Cognitive Skills
- Analytical Skills
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To draw the graph of a quadratic pol

(i) the shape of the curve, when the (()(‘j
(ii) the shape of the curve, when the coefficien! of x
(iii) its number of zeroes.

ynomial and ovseTve
ficient of x "1 posilive
"Iulu'(’uuvw

MATERIALS REQUIRED

1. +Cardboard 2. Graph paper 3. Ruler
4. Pencil 5. Eraser 6. Adhesive

PREREQUISITE KNOWLEDGE

1. Concept of quadratic polynomial.
2. Graph of the quadratic polynomial

THEORY

A polynomial of the form ax?+ bx + ¢, a # 0 is called quadratic polynomial whore , b and ¢ e
constants.

A real number « is said to be a zero of a quadratic polynomial, ax” + bx + ¢, where a2 0l
aa? + ba + ¢ = 0. Any quadratic polynomial can have atmost lwo zero

For any quadratic polynomial ax® + bx +c¢, a # 0, the graph of the has one of the Iwo shapes either

open upwards like L or open downwards like " depending on whether a -~ 0 or o -
nor vare called parabolas). This graph can cul the X-axis almost on two points by
atmost two zeros.

The shape of graph ax? + bx + ¢, can have lollowing three cases

Case 1 Here, the graph cuts X-axis al two distinct points A and A’ The
the two zeroes of the quadralic polynomial ax? + by

0, (these curves
eCause il can have

x-coordinates of Aand A’ are
+C (s;m:qu 2.1)




Case 2 Here
. the graph cuts the X-axi
-axis at exactly one point, i. inci i
points A . , point, i.e. at two coincident points. two
‘ ar.'q A 9' case 1 coincide here to become one point A. (see Fig,o .I?AZ) s

o e g | Y

il s

'

e Fig. 2.2 i

™
e =200 nate O 1 i
X ate of A is the only zero for the quadratic polynomial ax® +bx+c.

case 3 Hara *ha Aaranh
pic i 72 grapn s aither completely above the X-axis or completely below the X-axis. So, it
coes net cut the X-axis at any point. (see Fig. 2.3)

0] Fig. 2.3 Gi)

ne quadratic polynomial ax? + bx + ¢ has no zero.

can see geometrically that aquadratic polynomial can have either two distinct zeroes
_al zeroes (i.e. one zero), or No zeroes. This also means that a polynomial of degree
nas armost two Zeroes.

nNO Wy
O

PROCEDURE

w N

i~

w

Paste a grach paperona cardooarc of 2 suitable size.
Consicer a guacratic polynom:al. f(x)=ax’ +bx+c.a#0

Two cases arise. ethera>0ora< 0.
Obtan the set of orgered parrs (X #(x)) for different values of xin the polynomial f(x) =@ + bx +C,
2=0)
«£ 0 i
% L = L SR S X,
‘x, flxy) . f(x,)

Piot 2!l obtained ordered pairs inthe canesian plane on the graph paper. Points on the graph paper

shouid be jonecby 2 free hanc curve ony.




f either type i
in the graph ©
e to obtain
i free hand curv
6. Now, join these plotted points by a
below in Fig. 2.4, Fig. 2.5 and Fig. 2.6. R

|

o ' 0. 2.5 (Fora>0)
Fig. 2.4 (Fora<0) Fig

Fig.2.6 (Fora > 0)

DEMONSTRATION

1. In each case, the shape of the curve is a parabola
When coefficient of x% is positive, parabola o

W N

Pens upward. (see Fig. 25,2 6)
opens downward. (see Fig. 2.4)
lic polynomial can have, is 2

When coefficient of x? is negative, parabola
Maximum number of zeroes which a quadra

OBSERVATIONS

o

1. Parabola in Fig. 2.4 opens

2. Parabolain Fig. 2.5 opens

3. InFig. 2.4, parabola Intersects X-axis at point(s

4. InFig. 2.4, number of zeroes of the given p;dl n %

5. Parabolain Fig. 2.5 intersects X-axis at L W
6. Parabolain Fig. 2.6 intersects A-axis at o

7. Maximum number of zeroes oo

which a quadratic Polynomia ca
APPLICATIONS e

This aclivity helps to
1. understand the geomelric

al representati
2. find the number of zeroes : pneln

Quadratic P

of a quadratic Polynomial Olynomia
PHYSICS -Critical thinking
SECTION A -Problem solving
SCIENCE Choose the Correct Option Only for Q1 — Q12: -Analytical Skills

1. Focal length of plane mirror is
a. At infinity
b. Zero
c. Negative
d. None of these
2. Image formed by plane mirror is
a. Real and erect
b. Real and inverted
c. Virtual and erect
d. Virtual and inverted
3. A concave mirror gives real, inverted and same size image if
the object is placed
a. AtF
b. At infinity




c.AtC
d. Beyond C
4. A concave mirror gives virtual, refract and enlarged image of
the object but image of smaller size than the size of the object is
a. At infinity
b. Between Fand C
c. Between P and F
d. AtE
5. The radius of curvature of a mirror is 20cm the focal length is
a. 20cm
b. 10cm
c. 40cm
d. 5cm
6. Which of the following can make a parallel beam of light when
light from a point source is incident on it?
(a) Concave mirror as well as convex lens
(b) Convex mirror as well as concave lens
(c) Two plane mirrors placed at 90° to each other
(d) Concave mirror as well as concave lens
7. A 10 mm long awl pin is placed vertically in front of a concave
mirror. A5 mm long image of the awl pin is formed at 30 cm in
front of the mirror. The focal length of this mirror is
(@) -30cm
(b) -20 cm
(c) -40cm
(d) -60 cm
8. Under which of the following conditions a concave mirror can
form an image larger than the actual object?
(a) When the object is kept at a distance equal to its radius of
curvature
(b) When object is kept at a distance less than its focal length
(c) When object is placed between the focus and centre of
curvature
(d) When object is kept at a distance greater than its radius of
curvature
9. Magnification produced by a rear-view mirror fitted in vehicles
(@) is less than one
(b) is more than one
(c) is equal to one
(d) can be more than or less than one depending upon the position
of the object in front of it.
10. Rays from Sun converge at a point 15 cm in front of a concave
mirror. Where should an object be placed so that size of its image
is equal to the size of the object?
() 15 cm in front of the mirror
(b) 30 cm in front of the mirror
(c) between 15 cm and and 30 cm in front of the mirror
(d) more than 30 cm in front of the mirror

11. A full length image of a distant tall building can definitely be
seen by using

(a) a concave mirror

(b) a convex mirror

(c) a plane mirror

(d) both concave as well as plane mirror

12. In torches, search lights and headlights of vehicles the bulb is
placed

(a) between the pole and the focus of the reflector




(b) very near to the focus of the reflector

(c) between the focus and centre of curvature of the reflector
(d) at the centre of curvature of the reflector

13. The laws of reflection hold good for

(a) plane mirror only

(b) concave mirror only

(c) convex mirror only

(d) all mirrors irrespective of their shape

SECTION B

The following questions consist of two statements — Assertion
(A) and Reason (R). Answer these questions by selecting the
appropriate option given below:

(a) If both Assertion and Reason are correct and Reason is the
correct explanation of Assertion.

(b) If both Assertion and Reason are correct, but Reason is not the
correct explanation of Assertion.

(c) If Assertion is correct but Reason is incorrect.

(d) If Assertion is incorrect but Reason is also wrong

1. Assertion(A): The mirrors used in search lights are concave
spherical.

Reason (R): In concave spherical mirror the image formed is
always virtual.

2. Assertion (A): Convex mirror is preferred for rear view mirrors
in vehicles.

Reason (R): The field view of a convex mirror is lesser than that of
concave mirror

3. Assertion: A point object is placed at a distance of 26 cm from a
convex mirror of focal length 26 cm. The image will not form at
infinity.

Reason: For the above-given system the equation 1/u+1/v= 1/f
gives v = oo.

4. Assertion: Keeping a point object fixed, if a plane mirror is
moved, the image will also move.

Reason: In the case of a plane mirror, the distance between object
and Its image is equal from any point on the mirror.

5. Assertion: If both plane mirror and object are moved through a
distance x, then the image moves through a distance 2x.

Reason: When the object is fixed and the plane mirror is moved
through a distance x. Then the image also moves through the
distance 2x.

6. Assertion: If a spherical mirror is dipped in water, its focal
length remains unchanged.

Reason: A laser light is focused by a converging lens. There will
be a significant chromatic aberration.

7. Assertion: Large concave mirrors are used to concentrate
sunlight to produce heat in solar cookers.

Reason: Concave mirror converges the light rays falling on it to a
point.

8. Assertion: A plane mirror may form a real image.

Reason: Plane mirror forms virtual image if objects are real.

9. Assertion: A convex mirror is used as a driver’s mirror.
Reason: Because the convex mirror’s field of view is large and
images formed are virtual, erect, and diminished.

10. Assertion: When a concave mirror is held underwater, its focal
length will increase.

Reason: The focal length of a concave mirror is independent of the




medium in which it is placed.

11. Assertion: A virtual image cannot be photographed.

Reason: Only real objects are photographed.

SECTION C

Read the following and answer any four questions from (i) to
(V)

Convex mirrors are used as rear-view mirrors in vehicles. The
image formed in a convex mirror is diminished (ray diagram is
shown here) due to which it gives a wide field of view of the
traffic behind the vehicle. Consider a convex mirror used on a
moving automobile with radius of curvature 2 m and a truck is
coming from behind it by maintaining a constant distance of 3.5
m.

(i) Find the distance behind the mirror where the image is formed.
(ii) What is the nature of the image formed?

\

(iii) What is the size of the image relative to the size of the truck?
(iv) Find the focal length of the mirror.

(v) If instead of 3.5 m, truck maintains a distance of 2 m, what will
be the nature of the image formed?

CHEMISTRY

A. CASE BASED QUESTION

Read the following and answer the questions

The reaction between MnO2 with HCI is depicted in the following
diagram. It was observed that a gas with bleaching abilities was
released .

HCI (aq)

=" .
o°° 0
el < ™MnO,(s) = e sab el =

PRODUCTS

o
- o

REACTANTS

1(i). The chemical reaction between MnO2 and HCI is an example
of

a) displacement reaction

b) combination reaction

c) redox reaction

d) decomposition reaction.

ii. Chlorine gas reacts with to form bleaching
powder.

a) dry Ca(OH)2

b) dil. solution of Ca(OH)2

c) conc. solution of Ca(OH)2




d) dry CaO

iii. Identify the correct statement from the following:

a) MnO2 is getting reduced whereas HCI is getting oxidized
b) MnO2 is getting oxidized whereas HCI is getting reduced.
¢) MnO2 and HCI both are getting reduced.

d) MnO2 and HCI both are getting oxidized.

iv. In the above discussed reaction, what is the nature of MnO2 ?
a) Acidic oxide

b) Basic oxide

¢) Neutral oxide

d) Amphoteric oxide

v. What will happen if we take dry HCI gas instead of aqueous
solution of HCI?

a) Reaction will occur faster.

b) Reaction will not occur.

¢) Reaction rate will be slow

d) Reaction rate will remain the same.

B. CASE BASED QUESTION

Chemistry in Automobiles:

For an internal combustion engine to move a vehicle down the
road, it must convert the energy stored in the fuel into mechanical
energy to drive the wheels. In your car,the distributor and battery
provide this starting energy by creating an electrical "spark™,which
helps in combustion of fuels like gasoline. Below is the reaction
depicting complete combustion of gasoline in full supply of air:

2C8H18 + 2502—16X + 18Y.
2(i) Which of the following are the products obtained from the
reaction mentioned in the above

case?

Product ‘X’ Product ‘Y’
a) CO2 H202

b) H20 CcOo

c) CH3OH H20

d) CO2 H20

(ii) Identify the types of chemical reaction occurring during the
combustion of fuel:

a) Oxidation & Endothermic reaction

b) Decomposition & Exothermic reaction

c) Oxidation & Exothermic reaction

d) Combination & Endothermic reaction

(iii) On the basis of evolution/absorption of energy, which of the
following processes are similar to combustion of fuel?

a) Photosynthesis in plants

b) Respiration in the human body

c¢) Decomposition of vegetable matter

d) Decomposition of ferrous sulphate.

(@)(i) & (iii)

(b)(i) & (ii)

(c)(iil) & (iv)

(d) (i) & (i)




(iv)‘A student while walking on the road observed that a cloud of
black smoke belched out from the exhaust stack of moving trucks
on the road.” Choose the correct reason for the production of black
smoke:

a) Limited supply of air leads to incomplete combustion of

b) Rich supply of air leads to complete combustion of fuel.

¢) Rich supply of air leads to a combination reaction.

d) Limited supply of air leads to complete combustion of fuel.

(v) ‘Although nitrogen is the most abundant gas in the atmosphere,
it does not take part in combustion’. Identify the correct reason for
this statement.

a) Nitrogen is a reactive gas

b) Nitrogen is an inert gas

¢) Nitrogen is an explosive gas

d) Only hydrocarbons can take part in combustion

C. SHORT ANSWER QUESTIONS:

1.1 g of copper powder was taken in a China dish and heated.
What change takes place on heating? When hydrogen gas is
passed over this heated substance, a visible change is seen in it.
Give the chemical equations of reactions, the name and the colour
of the products formed in each case.

2. A compound ‘A’ is used in the manufacture of cement. When
dissolved in water, it evolves a large amount of heat and forms
compound ‘B’.

(i) Identify A and B.

(i) Write chemical equation for the reaction of A with water.
(i) List two types of reaction in which this reaction may be
classified.

3. Mention with reason the colour changes observe when:
(i) silver chloride is exposed to sunlight.

(ii) copper sulphate crystals are heated.

(iii) a piece of zinc is dropped in copper sulphate solution.

4. Lead nitrate solution is added to a test tube containing
potassium iodide solution.

(a) Write the name and colour of the compound precipitated.
(b) Write the balanced chemical equation for the reaction
involved.

(c) Name the type of this reaction justifying your answer.

5.2 g of ferrous sulphate crystals are heated in a dry boiling tube.
(a) List any two observations.

(b) Name the type of chemical reaction taking place.

(c) Write balanced chemical equation for the reaction and name
the products formed.

BIOLOGY

I. ASSERTION AND REASONS
(a) Assertion and reason both are correct and reason is the

correct explanation for assertion.
(b) Assertion and reason both are correct but reason is not the




(©)

correct explanation for assertion.
Assertion is true and reason is false.

(d) Assertion is false and reason is true.

(€)
1.

2.

Both assertion and reason are false.

A: The opening and closing of the pore is a function of the
guard cells.

R: Stomatal pores are the site for exchange of gases by
diffusion

A: Blood takes up oxygen from the alveolar air and
release CO2 during exchange.

R: The concentration of oxygen, is more in alveolar air.

11.CASE BASED QUESTIONS

Read the passages below and answer the questions

1.

The alimentary canal is basically a long tube extending
from the mouth to the anus. It has different parts. Various
regions are specialized to perform different functions. We
eat various types of food which has to pass through the
same digestive tract. Naturally the food has to be
processed to generate particles which are small and of the
same texture. This is achieved by crushing the food with
our teeth and mixing with our saliva. It passes through the
food pipe and enter into our stomach.

Which enzyme is present in our mouth to digest

starch?

What are the types of secretions released by our

stomach?

Name the structure present inside the inner lining of

the small intestine. Mention its function.

Mention the structure that prevents food from entering

into our wind pipe.

The food material taken in during the process of nutrition
is used in cells to provide energy for various life
processes. Diverse organisms do this in different ways —
some use oxygen to break-down glucose completely into
carbon dioxide and water; some use other pathways that
do not involve oxygen. In all cases, the first step is the
break-down of glucose, a six-carbon molecule, into a
three-carbon molecule called pyruvate. This process takes
place in the cytoplasm.

Explain the process which happens in our muscle cells

during heavy exercise?

In which form our body use the energy?

Why there is a faster breathing rate of aquatic animals

then the terrestrial animals?

Write the name of organ used for respiration by

different organism- fish, frog, earthworm?




1. MULTIPLE CHOICE QUESTION
1. During respiration exchange of gases take place in

(a) trachea and larynx
(b) alveoli of lungs
(c) alveoli and throat
(d) throat and larynx

2. The correct sequence of anaerobic reactions in yeast is

Cytoplasm Mitochondria ..
(a) Glucose _ylopasm Pyruvate ——————— Ethanol + Carbon dioxide

Cytoplasm Cytoplasm . .
(b) Glucose _ytoprasm Pyruvate _VOPATH o Lactic acid

Cytoplasm Mitochondria . .
(¢) Glucose _ Dytoprasm Pyruvate ——————> Lactic acid

Cytoplasm Cytoplasm
(d) Glucose _Lytopasm Pvru\'ate%

3. A student sets up an experiment to study the role of
enzymes in digestion of food.

Ethanol + Carbon dioxide

Egg white
+ pepsin

Egg white
+ pepsin + HCI

::-(IIIIIIIIIO
> (.

In which test tube, the digestion of protein will occur?
(a) Testtubes A as pepsin will breakdown protein into simple

molecules.

(b) Testtube B as HCI will breakdown protein into simple
molecules.

(c) Testtube A as pepsin will breakdown into simple
molecules.

(d) Test tube B as HCI will activate pepsin for breakdown of
protein into simple molecules.

4. In which part of the alimentary canal food is finally
digested?
(a) Stomach
(b) Mouth cavity
(c) Large intestine
(d) Small intestine

NOTE: TO BE DONE IN SCIENCE CLASSWORK COPY
AND SUBMITTED ON 05.06.2023




SOCIAL I. Worksheet Booklet : The Rise of Nationalism in Europe -Social Skill
SCIENCE (WORKSHEET 1,2), Power Sharing (WORKSHEET 5,6) and -Critical Thinking
Resources and Development(WORKSHEET 21,22) -Contextual
Learning skills
Il. Project on Consumer Awareness -Cognitive Skills
The project should be done in the following chronology :
v Cover Page — Name, Class , Section, Roll, Regn. No.( to be kept
blank)
v Acknowledgement
v Content
v Introduction
v Meaning of Consumer
v Concept of Consumer Protection and common mal Practices
v Need for Consumer Protection
v Causes of Consumer Exploitation
v Rights of Consumers
v Responsibilities of Consumers
v Consumer Protection Act, 1986 — Its Salient Features
v Goods and Services covered under COPRA 1986
v Conclusion
v Bibliography
(Project should contain relevant information as guided above with
pictures)
GUIDELINES OF THE PROJECT
v Project content should be covered within 15 pages including
cover sheet, acknowledgement, Content, Bibliography)
v Omit using colours like — Red, pink, orange
v Colours which could be used — Blue, Brown, Green, Violet,
Black
v Project should be done in Practical Sheets and tied in a lace file
( provided by the school).
INFORMATION | 1. What is style and formatting?
TECHNOLOGY | 2- Write down the difference between page style and paragraph -Critical Thinking

style

3. Discuss the difference between rotate and resize image
4. Discuss the feature table and indexing for documentation
5. Explain the process to include template in documentation

-Information and
Media Literary
Skills

N.B: Details of the Projects have been uploaded on ERP as well as shared on the official
Class What’sapp group.




